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Additional materials: Multiple Choice Answer Sheet
READ THESE INSTRUCTIONS FIRST

Write in soft pencil.

Do not use staples, paper clips, glue or correction fluid.

Write your name, class and register number on the Question Paper and Answer Sheet in the
spaces provided unless this has already been done for you.

There are forty questions in this paper. Answer all questions. For each question there are four
possible answers, A, B, C and D.

Choose the one you consider correct and record your choice in soft pencil on the separate
Answer Sheet.

Read the instructions on the Answer Sheet very carefully.

Each correct answer will score one mark. A mark will not be deducted for a wrong answer. Any
rough working should be done in this paper.

Setter: Ms Yvonne Tan

This question paper consists of 17 printed pages including the cover page.
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Which of the quantities are classified correctly under scalar and vector?

scalar vector
A acceleration time
B friction speed
C latent heat velocity
D velocity displacement

What is the order of magnitude of the diameter of an atom?

A 107 cm B

107 mm C 107 pym D 107ns
A pendulum swings from X to Y and back to X again twenty times in 37.4 s.
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What is the period of the pendulum?
A 0534s B 00935s C 187s D 3.74s

An object X of mass m is released from a height h. Above object X, another object Y of mass
2m is released from a height 2h simultaneously.

If both objects fall freely, which statement is correct?

The distance between them decreases and Y overtakes X.
The distance between them increases as X falls faster.
The distance between them remains constant.

The velocities of both objects are constant.
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Which of the following will experience the largest inertia?

A A bowling ball that is rolling at 20 m/s.

B A leaf that is free falling with an acceleration of 10 m/s?.
C Acarthat is travelling at 100 km/h.

D An airplane that is at rest.
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6 A block of iron is brought from Earth to the surface of the Moon with gravitational field
strengths of 10 N/kg and 1.6 N/kg respectively.

statement
| 1 lts mass decreases.
i 2 Its weight decreases.
3 Its density remains unchanged.

Which of the following statements is/are true about the iron block when it is on the Moon?

A 1only

B 1and3
C 2and3
D 1,2and 3

7 Hydrometers are used to measure the density of four different liquids, P, Q, R and S as
shown.

[r/ hydrometers \ﬂ o hydrom eters\

Which arrangement correctly shows the increasing density of the four liquids?

S,P,R,Q

’ ’

Q
’Pi
S

’

oow>
(7

0P
X000
TwnAa



8 A non-uniform object is placed on an inclined plane. The object is just about to topple.

Which position is the centre of gravity?
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/ _ non-uniform object

inclined plane

9 An object of mass 20 kg is pulled up a slope of 15 m. The object is raised by a vertical height
raised of 3 m. The frictional force between the object and the slope is 30 N.

What is the minimum work done by the pulling force?

A 150J B 4504 Cc 510J D 1050J

10 A ball, initially at rest at A, rolls down a smooth slope as shown in the figure below.
Air resistance can be ignored. Assume that the gravitational potential energy of the object is
zero at C.

gravitational potential energy
kinetic energy

What is the ratio

at B?

A 025 B 033 C 20 D 3.0
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